ASSEMBLY INSTRUCTION Y
DELFT DINING TABLE ROUND ACACIA BEST

AxA Bx1 Cx1 Dx1 Ex1 No. Hardware Q.ty

1: | M6x55 F— 03

2- | M7x120 [ 02

3:| M10x30 0O ) 02

o
Ecru M8 I\@ 02

e

o

Washer M8 @ 02

6: | Cap 56x40x5 @ 02

7: | Allen Key F 01




\_
BEST

ASSEMBLY INSTRUCTION
DELFT DINING TABLE ROUND ACACIA




\_
BEST

ASSEMBLY INSTRUCTION
DELFT DINING TABLE ROUND ACACIA




